5 4R R#E

Eiﬁé%\%%%@?ﬁiz %Egj[fg)i‘ﬁg%ﬂl E1 &H;;;@%E%%ﬁéﬂ =
>(§] B =+ §";’ Ez 1 Ez Ez$ Ez E
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AE#045 13.0 16.6 14.1 1T 194 252 41 29621 ] 117,543
50 12.1 14.0 13.5 12.1 18 206 266 44| 32,042 | 120,459
55 12.2 12.0 12.4 8.4 19 210 270 45| 28,238 ] 104,585
60 11.8 11.1 13.4 5.9 20 228 297 50| 33,280 112,054
2 8.2 7.9 7.4 40 21 250 345 59| 36,219 | 104,982
3 7.6 7.2 7.1 3.6 22 279 410 70| 44,067 ] 107,480
4 7.2 6.8 7.3 3.4
5 7.1 6.6 7.1 34
6 7.1 6.3 6.8 3.2
7 7.0 6.1 6.5 3.0
8 7.1 5.8 6.3 3.0
9 7.2 5.7 6.0 3.0
10 75 5.6 5.6 3.1
11 7.9 5.7 6.0 3.0
12 8.4 5.9 6.8 2.9
13 9.0 6.1 7.3 3.2
14 9.8 6.5 8.2 3.4 (ZEZ)EETDAFHREKR _ _
15 10.5 7.0 8.6 3.8 RERR| WHIRE | HIRE | RiEE R & &
16 11.1 75 8.2 4.1 3@ HEH | AN B | (FoLh) |2 @mEm|iAsyiEm)
17 11.6 7.7 8.8 41 ERk17 364 467 8.8] 58,123 124,460
18 11.8 7.9 9.3 44 18 374 488 9.3] 62652 128,385
19 12.1 8.4 10.0 45 19 394 520 10.0] 64,792] 124,600
20 12.5 8.9 11.2 5.0 20 427 576 11.2] 68,795] 119,435
21 13.8 10.1 13.0 5.9 21 487 667 13.0] 77,843| 116,707
22 15.3 11.2 15.0 7.0 22 558 762 15.0] 85,603| 112,341
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REER -2 S H ORI RI{REED HEFE
F1 FAk8 9 10 11 12 13 14 15 16 17 18 19 20 21 22
PR 45 4.3 4.4 4.8 5.4 6.1 6.7
N & H 3.3 3.0 2.9 26 2.3 2.7 2.7 34 — — — — — — —
H #F 6.3 6.3 6.9 7.7 7.8 75 6.9 6.3 — — — — — — —
EE ) 46 5.1 5.6 5.6 5.1 5.5 5.5 5.9 — — — — — — —
= g HT 3.7 2.9 2.8 2.7 2.2 3.3 3.9 45 48 47 4.6 48 5.3 55 6.1
EREEX) 34 3.8 4.2 3.5 2.8 2.8 3.3 40 44 — — — — — —
dt 5 HT 25 2.8 2.9 3.6 4.4 5.6
d & H 0.8 0.8 0.9 0.9 1.1 1.1 15 2.3 2.8 — — — — — —
X x HT 1.7 1.9 20 2.1 2 2 1.9 20 2.1 — — — — — —
= g HT 4.9 5.0 5.7 5.6 5.5 7.2 8.9
R {8 HT 2.8 25 2.7 2.7 2.9 3.3 3.7 4.6 — — — — — — —
7~ W OH 34 3.1 3.2 3.3 3.3 3.5 3.6 3.7 — — — — — — —
EXEER 3.0 3.0 3.1 3.0 2.9 3.2 34 38 41 41 4.4 45 49 5.8 7.0
E o m 6.3 6.0 5.6 6.0 6.5 7.8 8.2 8.6 8.1 9.00 9.3 10.0 1.2 13.0 15.0
XEEE A FITE
RIBE - EETOHREHTHERANHEY CER2FERIRE)
X 2 S E BFiE SR EEEOHTE| ZTOMhOHTE B
= (A2 HF 112 8 119 47 286
# At 39.2% 2.8% 41.6% 16.4% 100.0%
ax HF 197 44 227 90 558
- # At 35.3% 7.9% 40.7% 16.1% 100.0%




FABER D REEFHFE NI FE DR _ (451 44)
X% E33 5173 Z1 R (C) E3 351
FE (A) (B)=(A-C) (Y TFIFEL) (D) (B-D)
8 36 25 11 21 4
9 25 20 5 17 3
10 19 17 2 13 4
11 20 15 5 25 A 10
12 36 25 11 15 10
13 47 40 7 30 10
14 45 35 10 25 10
15 45 38 7 14 24
16 50 36 14 23 13
17 43 30 13 24 6
18 50 43 8 25 18
19 53 42 10 38 4
20 76 62 15 37 25
21 71 59 11 36 23
22 71 63 12 42 21
(BE)EETORERENEZDKR _ (B 4)
E) E3E3 5173 Z R (C) B T
FE (A) (B)=(A-C) (Y TFIFEL) (D) (B-D)
19 81 67 14 47 20
20 124 111 13 60 51
21 144 125 19 58 67
22 131 117 14 81 36
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Eif k=]
& _H FEEEICON I ] B | = (%)
BEEXI - o8 0&kR 11 17.5 |[3E T 6 14.3
- B 16 254 |18 & I & 5 U A 1 A0 8 19.0
FEY DR D - &% 11 175| & & B 8 8 19.0
BEICXELHINADRED 8 127 ||& A in i 11 26.2
% E3 2 3.2 | & A AR 2 48
2 D o 15 237 | % ) o 7 16.7
st 63 100 5 42 100
RIBA DBREEH T D F 8 A FE R A H K
X% B iz B oz
EREEAZELTLS tEanig] MEt | F(%) | HEK | FE) | TF
F ZH HE RE [ Zofs | BLTLS [ A A/C B B/C_ | C=A+B
10 5 1 34 15 3 58 36.9 99 63.1 157
11 1 2 36 15 6 60 34.6 96 61.5 156
12 1 4 33 11 5 54 375 90 62.5 144
13 - 3 32 8 6 49 314 107 68.6 156
14 1 4 30 5 9 49 29.5 117 70.5 166
15 - 8 29 10 6 53 29.8 125 70.2 178
16 6 9 28 6 8 57 27.7 149 72.3 206
17 - 5 31 4 5 45 23.3 148 76.7 193
18 - 6 27 5 4 42 21.1 157 78.9 199
19 2 6 27 9 5 49 23.3 161 76.7 210
20 2 9 23 9 7 50 22.9 168 77.1 218
21 4 15 20 9 7 55 22.2 193 778 248
22 7 17 19 8 12 63 23.2 209 76.8 272
23 7 22 27 5 12 73 25.2 217 74.8 290
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(%) BEETOHREHTOHE HIFRRIHTH
X% BE T iz B =
EREEAZELTLS tEanig] MEt | F(%) | HEK | ) | TF
F ZH HE RE [ Zofs | @BLTLS [ A A/C B B/C_ | C=A+B
19 15 1 36 2 8 62 15.8% 331 84.2% 393
20 12 3 29 1 8 53 12.7% 364 | 87.3% 417
21 16 6 40 1 8 71 15.4% 390 | 84.6% 461
22 24 3 41 2 12 82 15.4% 451 84.6% 533
23 31 4 49 2 16 102 17.9% 469 | 82.1% 571
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